

# A Note on Special Functions Related to Lotka / Negative Volterra Equations

Takashi Fujiwara

**Abstract:** We study special functions related to Lotka-Volterra equations and negative Volterra equation intro-duced from zero curvature representations. At first we show the relationships between Lotka-Volterra equations introduced from zero curvature representations and symmetric orthogonal polynomials. Sec-ondarily, we describe the relationships between negative Volterra equations with a special solutions and cylinder functions.

**keyword.** Lotka-Volterra equations, Negative Volterra equations, symmetric orthogonal polynomials, cylinder functions, three term recurrences

#### 1 Introduction

In this paper we study Lotka-Volterra equations and negative Volterra equations related to special functions  $\{\phi_n(\lambda,t)\}$  satisfying the identities

$$\lambda \phi_n(\lambda, t) = \phi_{n+1}(\lambda, t) + u_n(t)\phi_{n-1}(\lambda, t),$$

where we denote n as a natural number and  $\lambda$ , t as a real number. At first we consider the relationships between Lotka-Volterra equations

$$\frac{d}{dt}u_n(t) = u_n(t)(u_{n+1}(t) - u_{n-1}(t))$$

and symmetric orthogonal polynomials satisfying three term recurrence

$$\lambda P_n(\lambda, t) = P_{n+1}(\lambda, t) + u_n(t) P_{n-1}(\lambda, t), \qquad P_{-1}(\lambda, t) = 0, \quad P_0(\lambda, t) = 1$$

For this relationships there are many investigations([1], [3], [6], [8]). Here we describe this relationships using zero curvature representations([3], [6]).

Secondarily, we consider the relationships between negative Volterra equations

$$\frac{d}{dt}u_n(t) = q_{n-1}(t) - q_n(t), \qquad u_n(t) = q_n(t)q_{n-1}(t)$$

and special functions satisfying the identities

$$\lambda \psi_n(\lambda, t) = \psi_{n+1}(\lambda, t) + u_n(t)\psi_{n-1}(\lambda, t)$$

Negative Volterra equations were introduced by Pritula and Vekslerchik[4]. Here giving special solutions  $q_n(t) = \frac{t}{2n}$  for negative Volterra equations, we show that there is relationships between negative Volterra equations and cylinder functions([2],[9]).

Within this framework, we introduce in the next section the notion of symmetric orthogonal polynomials and describe the relationships between Lotka-Volterra equations and symmetric orthogonal polynomials. In section 3, we derive a relationships between *cylinder functions* and negative Volterra equations with special solutions  $q_n(t) = \frac{t}{2n}$ .

## 2 Orthogonal polynomials

In this section we refer the general property of orthogonal polynomials([1],[4]). At first we define the moments, and we will construct orthogonal polynomials by using the determinants with elements as we denote the moments.

#### 2.1 Moment and Hankel determinant for orthogonal polynomials

We let the vector space  $V = \{x^n \in \mathbf{R} \mid n = 1, 2, 3, \dots\}$ . We define the linear functional  $\mathcal{L} : V \longrightarrow \mathbf{R}$ . By using this linear functional  $\mathcal{L}$ , we define **moments**  $s_k$  as

$$s_k = \mathcal{L}(x^k) = \int_{x \in \Lambda} x^k d\mu(x)$$
  $(k = 0, 1, 2, 3, \dots),$ 

where we denote  $\mu$  as Borel measure on  $\Lambda = \operatorname{supp} \mu \subset \mathbf{R}$ . Here we want to define **Hankel determinant** with the elements as we denote this moment  $\{s_k\}$ .

$$\tau_n = \begin{vmatrix} s_0 & s_1 & \cdots & s_{n-1} \\ s_1 & s_2 & \cdots & s_n \\ \vdots & \vdots & \cdots & \vdots \\ s_{n-1} & s_n & \cdots & s_{2n-2} \end{vmatrix}$$

#### 2.2 Monic orthogonal polynomials represented by determinants

We denote  $\{P_n(x)\}$  as a monic n th polynomials with respect to variant x. Now we can get the monic orthogonal polynomials  $P_n(x)$  using the Hankel determinants  $\tau_n$ 

$$P_n(x) = \frac{1}{\tau_n} \begin{vmatrix} s_0 & s_1 & \cdots & s_n \\ s_1 & s_2 & \cdots & s_{n+1} \\ \vdots & \vdots & \cdots & \vdots \\ s_{n-1} & s_n & \cdots & s_{2n-1} \\ 1 & x & \cdots & x^n \end{vmatrix}$$

It follows from it that we have the **orthogonality** 

$$\mathcal{L}(x^m P_n(x)) = \frac{\tau_{n+1}}{\tau_n} \delta_{nm} \quad (m = 0, 1, 2, \dots n)$$

#### 2.3 Three term recurrences for orthogonal polynomials

Assume that we have the equality

$$xP_n(x) = a_n^{(n+1)}P_{n+1}(x) + a_n^{(n)}P_n(x) + a_n^{(n-1)}P_{n-1}(x) + \dots + a_n^{(1)}P_n(x) + a_n^{(0)}P_n(x)$$

We operate  $\mathcal{L}\left[\begin{array}{cc} \cdot & P_{n-1}(x) \end{array}\right]$  on both side of above equality and then it follows from the orthogonality  $\mathcal{L}(x^mP_n(x)) = \frac{\tau_{n+1}}{\tau_n}\delta_{nm}$  that we have

$$\mathcal{L}(xP_n(x)P_{n-1}(x)) = a_n^{(n-1)} \mathcal{L}(P_{n-1}(x)P_{n-1}(x))$$

Thus, we obtain

$$\mathcal{L}(x^{n}P_{n}(x)) = a_{n}^{(n-1)}\mathcal{L}(x^{n-1}P_{n-1}(x))$$

$$\frac{\tau_{n+1}}{\tau_{n}} = a_{n}^{(n-1)}\frac{\tau_{n}}{\tau_{n-1}}$$

$$a_{n}^{(n-1)} = \frac{\tau_{n+1}\tau_{n-1}}{\tau_{n}^{2}}$$

Moreover we operate  $\mathcal{L}[ \cdot P_n(x)]$ , and then we can get

$$\mathcal{L}(xP_n(x)P_n(x)) = \mathcal{L}(a_n^{(n)}P_n(x)P_n(x))$$

By Laplace expansion of Hankel determinant for orthogonal polynomials and the orthogonality we have the equality

Moreover we obtain

$$\frac{1}{\tau_n} \begin{vmatrix} s_0 & s_1 & \cdots & s_n \\ s_1 & s_2 & \cdots & s_{n+1} \\ \vdots & \vdots & \ddots & \vdots \\ s_{n-1} & s_n & \cdots & s_{2n-1} \\ s_{n+1} & s_{n+2} & \cdots & s_{2n+1} \end{vmatrix} - \frac{\tau_{n+1}}{\tau_n^2} \begin{vmatrix} s_0 & s_1 & \cdots & s_{n-1} \\ s_1 & s_2 & \cdots & s_n \\ \vdots & \vdots & \ddots & \vdots \\ s_{n-2} & s_{n-1} & \cdots & s_{2n-3} \\ s_n & s_{n+1} & \cdots & s_{2n-1} \end{vmatrix} = a_n^{(n)} \frac{\tau_{n+1}}{\tau_n}$$

Thus we have

$$a_n^{(n)} = \frac{1}{\tau_{n+1}} \begin{vmatrix} s_0 & s_1 & \cdots & s_n \\ s_1 & s_2 & \cdots & s_{n+1} \\ \vdots & \vdots & \ddots & \vdots \\ s_{n-1} & s_n & \cdots & s_{2n-1} \\ s_{n+1} & s_{n+2} & \cdots & s_{2n+1} \end{vmatrix} - \frac{1}{\tau_n} \begin{vmatrix} s_0 & s_1 & \cdots & s_{n-1} \\ s_1 & s_2 & \cdots & s_n \\ \vdots & \vdots & \ddots & \vdots \\ s_{n-2} & s_{n-1} & \cdots & s_{2n-3} \\ s_n & s_{n+1} & \cdots & s_{2n-1} \end{vmatrix}$$

In the case of  $k = 0, 1, 2, \dots, n-2$ , we operate  $\mathcal{L}[\quad \cdot \quad P_n(x)]$ , and then we have

$$\mathcal{L}(xP_n(x)P_k(x)) = \mathcal{L}(a_n^{(k)}P_k(x)P_k(x))$$

$$\mathcal{L}(x^{k+1}P_n(x)) = a_n^{(k)} \frac{\tau_{k+1}}{\tau_k} \qquad k = 0, 1, 2, \dots n-2$$

$$a_n^{(k)} = 0 \qquad (k = 0, 1, 2, \dots n-2)$$

For all monic orthogonal polynomials, we have three term recurrences

$$xP_n(x) = P_{n+1}(x) + a_n^{(n)}P_n(x) + a_n^{(n-1)}P_{n-1}(x)$$

#### 2.4 Favard's theorem

At first we put  $a_n^{(n)} = b_n$  and  $a_n^{(n-1)} = u_n$ . Then we have the equalities

$$xP_n(x) = P_n(x) + b_n P_n(x) + u_n P_{n-1}(x)$$

Next we put  $P_{-1}(x) = 0$  and  $P_0(x) = 1$ .

Assume  $b_n$  is real and  $u_n > 0$  for all  $n = 1, 2, \cdots$ .

Then the zeros of the polynomials generated by  $xP_n(x) = P_{n+1}(x) + b_n P_n(x) + u_n P_{n-1}(x)$ ,  $P_{-1}(x) = 0$ ,  $P_0(x) = 1$  are real and simple. Furthermore the zeros of  $P_n$  and  $P_{n-1}$  interplace. Let

$$x_{N.1} > x_{N.2} > \dots > x_{N.N}$$

be the zero of  $P_N(x)$ .

**Theorem (Favard)** If we have the three term recurrence

$$xP_n(x) = P_{n+1}(x) + b_n P_n(x) + u_n P_{n-1}(x)$$

with  $P_{-1}(x) = 0$  and  $P_0(x) = 1$ , and we assume

$$b_n \in \mathbf{R}$$
 and  $u_n > 0$ 

for all n > 0, then there exists a distribution function  $\mu$  such that we have

$$\int_{x \in \Lambda} P_n(x) P_m(x) d\mu(x) = \zeta_n \delta_{nm}$$

where  $\zeta_n$  denotes

$$\zeta_n = \prod_{j=1}^n u_j$$

To prove this theorem we introduce the following lemma

**Lemma 1** (Helly's selection theorem[5]) We assume the sequence  $\{x_{N,j}\}_{j=1}^n \subset \Lambda$  Let  $\Theta$  be a family of functions defined on  $\Lambda$  and satisfying the conditions

$$\sup_{\Delta} \sum_{k=1}^{n} |f(x_k) - f(x_{k-1})| \le C \qquad \sup_{x \in \Lambda} |f(x)| \le M \quad (f \in \Theta)$$

for suitable C and M, where the least upper bounded is taken over all finite partitions

$$\Delta: \quad x_{N,n} < x_{N,n-1} < x_{N,n-2} < \dots < x_{N,1}$$

Then  $\Theta$  contains a sequence which converges for ever  $x \in \Lambda$ .

proof Let f = h - g, where h is the total variation of f on  $[x_{N,n}, x]$ . Then the functions h corresponding to all  $f \in \Theta$  satisfy the condition of the lemma, since

$$\sup_{\Delta} \sum_{k=1}^{n-1} |h(x_{N,k+1}) - h(x_{N,k})| = \sup_{\Delta} \sum_{k=1}^{n-1} |f(x_{N,k+1}) - f(x_{N,k})| \le C \qquad \sup_{x \in \Lambda} |h(x)| \le C$$

Now we choose a sequence  $\{f_n\}$  from  $\Theta$  such that  $h_n$  converges to a limit h on  $\Lambda$ . Then the functions  $g_n = h_n - f_n$  are also satisfy the conditions of the lemma. Therefore  $\{f_n\}$  contains a subsequence  $\{f_{n_k}\}$ such that  $\{g_{n_k}\}$  converges to a limit  $g^*$  on  $\Lambda$ . Then  $\lim_{k\to\infty} f_{n_k}(x) = f^*(x)$ , where  $f^* = h^* - g^*$ . Let  $r_1, \dots, r_n, \dots$  be the rational points on  $\Lambda$ . It follows from the conditions of the lemma that the set

of numbers

$$f(r_1)$$
  $(f \in \Theta)$ 

is bounded. Hence there is a sequence of functions  $\{f_n^{(1)}\}$  converging at the point  $r_1$ . Similarly,  $\{f_n^{(1)}\}$ contains a subsequence  $\{f_n^{(2)}\}$  converging at the point  $r_2$  as well as at  $r_1$ ,  $\{f_n^{(2)}\}$  contains a subsequence  $\{f_n^{(3)}\}\$  converging at the point  $r_3$  as well as at  $r_1$  and  $r_2$ , and so on. Then the diagonal sequence  $\{F_n\}$  $\{f_n^{(n)}\}\$  will converge at every rational point of  $\Lambda$ . The limit of this sequence is a function F, definded only at the points  $r_1, \dots, r_n, \dots$ . We complete the definition of F at the remaining points of  $\Lambda$  by setting

$$F(x) = \lim_{r \to x - 0} F(r),$$

if x is irrational where we denote r as rational number.

The resulting function F is then the limit of  $\{F_n\}$  at every continuity point of F. In fact, let  $x^*$  be such point. Then given any  $\varepsilon > 0$ , there is a  $\delta > 0$  such that

$$\mid F(x^*) - F(x) \mid < \frac{\varepsilon}{6} \tag{1}$$

if  $|x^* - x| < \delta$ . Let r and r' be rational numbers such that

$$x^* - \delta < r^{'} < x^* < r^{''} < x^* + \delta$$

and let n be so large that

$$|F_n(r') - F(r')| < \frac{\varepsilon}{6}, \qquad |F_n(r'') - F(r'')| < \frac{\varepsilon}{6}$$
 (2)

It follows from (1) and (2) that we have

$$|F_{n}(r') - F_{n}(r'')| \le |F_{n}(r') - F(r')| + |F(r') - F(x^{*})| + |F(x^{*}) - F(r'')| + |F(r'') - F_{n}(r'')| < \frac{2}{3}\varepsilon$$

Moreover we have

$$|F(x^{*}) - F_{n}(x^{*})| \leq |F(x^{*}) - F(r^{'})| + |F(r^{'}) - F_{n}(r^{'})| + |F_{n}(r^{'}) - F_{n}(x^{*})| < \frac{\varepsilon}{6} + \frac{\varepsilon}{6} + \frac{2}{3}\varepsilon = \varepsilon$$

Therefore

$$\lim_{n \to \infty} F_n(x^*) = F(x^*),$$

since  $\varepsilon > 0$  is arbitrary.

Thus we have constructed a sequence  $\{F_n\}$  of functions in  $\Theta$  converging to a limit function F everywhere except possibly at discontinuity points of F. This lemma was proved.

Now we introduce a sequence of right continuous step functions  $\{\nu_n\}$  by

$$\nu_N(\infty) = 0, \quad \nu_N(x_{N,i} + 0) - \nu_N(x_{N,i} - 0) = \rho(x_{N,i})$$

where we define a sequence

$$\rho(x_{N,j}) = \frac{\zeta_{N-1}}{P'_N(x_{N,j})P_{N-1}(x_{N,j})} \qquad j = 1, 2, \dots N$$

**Lemma 2** The moments  $\int_R x^j d\nu_N(x)$ ,  $1 \le j \le 2N-2$  do not depend on  $\zeta_k$  for  $k > \lfloor (j+1)/2 \rfloor$ , where |a| denotes the integer part of a.

proof The fixed j choose N > 1 + j/2 and write  $x^j$  as  $x^s x^\ell$ , with  $0 \le \ell, s \le N - 1$ . Then express  $x^s$  and  $x^\ell$  as linear combinations of  $P_0(x), \dots, P_{N-1}(x)$ . Thus the evaluation of  $\int_R x^j d\nu_N(x)$  involves only  $\zeta_0, \dots, \zeta_{\lfloor (j+1)/2 \rfloor}$ 

#### (Proof of Favard's theorem)

Since

$$1 = \zeta_0 = \int_R d\nu_N(x) = \nu_N(\infty) - \nu_N(-\infty)$$

then the  $\nu_N$ 's are uniformly bounded. From Helly's selection theorem it follows that there is subsequence  $\eta_{N_k}$  which converges to a distribution function  $\mu$ . It follows from **Lemma 2** and Helly's selection theorem that  $\{\{\nu_N\} - \{\eta_{N_k}\}\}$  also converges to  $\mu$ . It is clear that the limiting function  $\mu$  of any subsequence will have infinitely many points of increase.

Thus Favard's theorem was proved.

## 3 Zero curvature representations

There are many investigations of the relationships between integrable systems and special functions. For example, there is the relationships between Toda molecule equations and orthogonal polynomials. At first, we have three term recurrences for orthogonal polynomials

$$P_{n+1}^t(\lambda) + b_n(t)P_n^t(\lambda) + u_n(t)P_{n-1}^t(\lambda) = \lambda P_n^t(\lambda)$$

Here we put

$$\Phi_n^t(\lambda) = \begin{pmatrix} P_n^t(\lambda) \\ -P_{n-1}^t(\lambda) \end{pmatrix},$$

then we obtain the linear equations

$$\Phi_{n+1}^t(\lambda) = L_n^t(\lambda)\Phi_n^t(\lambda),$$

where we denote

$$L_n^t(\lambda) = \begin{pmatrix} \lambda - b_n(t) & u_n(t) \\ -1 & 0 \end{pmatrix}.$$

Next we assume that we have

$$\frac{d}{dt}\Phi_n^t(\lambda) = A_n^t(\lambda)\Phi_n(\lambda),$$

where we denote

$$A_n^t(\lambda) = \begin{pmatrix} \alpha_n^t(\lambda) & \beta_n^t(\lambda) \\ \gamma_n^t(\lambda) & \delta_n^t(\lambda) \end{pmatrix}.$$

Then we differentiate both hand of  $\Phi_{n+1}^t(\lambda) = L_n^t(\lambda)\Phi_n^t(\lambda)$ , then we can get the equations

$$\frac{\partial}{\partial t} L_n^t(\lambda) - A_{n+1}^t(\lambda) L_n^t(\lambda) + L_n^t(\lambda) A_n^t(\lambda) = 0$$

Therefore we have four equations

$$\begin{cases} \dot{b}_n(t) = (\lambda - b_n(t))(\alpha_n^t(\lambda) - \alpha_{n-1}^t(\lambda)) + \beta_{n+1}^t(\lambda) + u_n(t)\gamma_n^t(\lambda) \\ \dot{u}_n(t) = u_n(t)(\alpha_{n+1}^t(\lambda) - \delta_n^t(\lambda)) - (\lambda - b_n^t)\beta_n^t(\lambda) \\ \delta_{n+1}^t(\lambda) = \alpha_n^t(\lambda) + (\lambda - b_n(t))\gamma_{n+1}^t(\lambda) \\ \beta_n^t(\lambda) = -\gamma_{n+1}^t(\lambda)u_n(t) \end{cases}$$

It follows from four equations that we have two equations

$$\begin{cases} \dot{b}_{n}(t) = (\lambda - b_{n}(t))(\alpha_{n}^{t}(\lambda) - \alpha_{n+1}^{t}(\lambda)) - \gamma_{n+2}^{t}(\lambda)u_{n+1}(t) + u_{n}(t)\gamma_{n}^{t}(\lambda) \\ \dot{u}_{n}(t) = u_{n}(t)(\alpha_{n+1}^{t}(\lambda) - \alpha_{n-1}^{t}(\lambda) - (\gamma_{n}^{t}(\lambda) - \gamma_{n+1}^{t}(\lambda))\lambda \\ + \gamma_{n}^{t}(\lambda)b_{n-1}(t) - b_{n}(t)\gamma_{n+1}^{t}(\lambda)). \end{cases}$$
(3)

Moreover we put  $\alpha_n^t(\lambda) = 0$ ,  $\gamma_n^t(\lambda) = 1$ , we can get Toda lattice equations

$$\begin{cases} \dot{b}_n(t) = u_n(t) - u_{n+1}(t) \\ \dot{u}_n(t) = u_n(t)(b_{n-1}(t) - b_n(t)) \end{cases}$$

Here we put the moments

$$s_k(t) = \mathcal{L}^t(\lambda^k) = \int_{x \in \Lambda} x^k \frac{\exp(-V(x,t))}{\int_{u \in \Lambda} \exp(-V(y,t)) d\mu(y)} d\mu(x),$$

where we denote V(x,t) as a function on  $(x,t) \in \Lambda \times \mathbf{R}$ . Then we can obtain the solution of Toda equations represented by Hankel determinants

$$b_{n}(t) = \frac{1}{\tau_{n+1}(t)} \begin{vmatrix} s_{0}(t) & s_{1}(t) & \cdots & s_{n}(t) \\ s_{1}(t) & s_{2}(t) & \cdots & s_{n+1}(t) \\ \vdots & \vdots & \ddots & \vdots \\ s_{n-1}(t) & s_{n}(t) & \cdots & s_{2n-1}(t) \\ s_{n+1}(t) & s_{n+2}(t) & \cdots & s_{2n+1}(t) \end{vmatrix}$$

$$- \frac{1}{\tau_{n}(t)} \begin{vmatrix} s_{0}(t) & s_{1}(t) & \cdots & s_{n-1}(t) \\ s_{1}(t) & s_{2}(t) & \cdots & s_{n}(t) \\ \vdots & \vdots & \ddots & \vdots \\ s_{n-2}(t) & s_{n-1}(t) & \cdots & s_{2n-3}(t) \\ s_{n}(t) & s_{n+1}(t) & \cdots & s_{2n-1}(t) \end{vmatrix}$$

(5)

and

$$u_n(t) = \frac{\tau_{n+1}(t)\tau_{n-1}(t)}{\tau_n(t)^2}$$

where we denote

$$\tau_n(t) = \begin{vmatrix} s_0(t) & s_1(t) & \cdots & s_{n-1}(t) \\ s_1(t) & s_2(t) & \cdots & s_n(t) \\ \vdots & \vdots & \cdots & \vdots \\ s_{n-1}(t) & s_n(t) & \cdots & s_{2n-2}(t) \end{vmatrix}$$

Following Aptekarev, Branquinho and Marcellan [1], V(x,t) = xt holds.

Next we will introduce Lotka-Volterra equations. At first, when we put  $b_n(t) = 0$  in the equations(1), we assume that  $u_n(t)$  become  $v_n(t)$ . Then we obtain two equations

$$\begin{cases}
0 = \lambda(\alpha_n^t(\lambda) - \alpha_{n+1}^t(\lambda)) - \gamma_{n+2}^t(\lambda)v_{n+1}(t) + v_n(t)\gamma_n^t(\lambda) \\
\dot{v}_n(t) = v_n(t)(\alpha_{n+1}^t(\lambda) - \alpha_{n-1}^t(\lambda) - (\gamma_n^t(\lambda) - \gamma_{n+1}^t(\lambda))\lambda).
\end{cases} (6)$$

Next we put  $\alpha_n^t(\lambda) = v_n(t)$  and  $\gamma_n^t(\lambda) = -\lambda$ , then we can obtain

$$\frac{d}{dt}v_n(t) = v_n(t)(v_{n+1}(t) - v_{n-1}(t)).$$

Now we refer relationships between moments  $s_n(t)$  and  $v_n(t)$ . We assume that we have

$$s_{2k-1}(t) = \mathcal{L}^t \left[ \lambda^{2k-1} \right] = \int_{x \in \Lambda} x^{2k-1} \frac{\exp(-V(x,t))}{\int_{y \in \Lambda} \exp(-V(y,t)) d\mu(y)} d\mu(x) = 0 \qquad (k = 1, 2, 3 \cdots)$$

Then we get  $b_n(t) = 0$ . Moreover we have the equality

$$\tau_n(t) = f_n(t) f_{n-1}(t)$$

where we denote

$$\tau_{2n}(t) = \begin{vmatrix} s_0(t) & 0 & s_2(t) & \cdots & s_{2n-2}(t) & 0 \\ 0 & s_2(t) & 0 & \cdots & 0 & s_{2n}(t) \\ \vdots & \vdots & \vdots & \cdots & \vdots & \vdots \\ s_{2n-2}(t) & 0 & s_{2n}(t) & \cdots & s_{4n-4}(t) & 0 \\ 0 & s_{2n}(t) & 0 & \cdots & 0 & s_{4n-2}(t) \end{vmatrix},$$

$$\tau_{2n-1}(t) = \begin{vmatrix} s_0(t) & 0 & s_2(t) & \cdots & 0 & s_{2n-2}(t) \\ 0 & s_2(t) & 0 & \cdots & s_{2n-2}(t) & 0 \\ \vdots & \vdots & \vdots & \ddots & \vdots & \vdots \\ 0 & s_{2n-2}(t) & 0 & \cdots & s_{2n-6}(t) & 0 \\ s_{2n-2}(t) & 0 & s_{2n}(t) & \cdots & 0 & s_{4n-4}(t) \end{vmatrix}$$

and

$$f_{2n-1}(t) = \begin{vmatrix} s_0(t) & s_2(t) & \cdots & s_{2n-2}(t) \\ s_2(t) & s_4(t) & \cdots & s_{2n}(t) \\ \vdots & \vdots & \cdots & \vdots \\ s_{2n-2}(t) & s_{2n}(t) & \cdots & s_{4n-4}(t) \end{vmatrix}$$

$$f_{2n}(t) = \begin{vmatrix} s_2(t) & s_4(t) & \cdots & s_{2n}(t) \\ s_4(t) & s_6(t) & \cdots & s_{2n+2}(t) \\ \vdots & \vdots & \cdots & \vdots \\ s_{2n}(t) & s_{2n+2}(t) & \cdots & s_{4n-2}(t) \end{vmatrix}$$

Therefore we obtain

$$v_n(t) = \frac{\tau_{n+1}(t)\tau_{n-1}(t)}{\tau_n(t)^2} = \frac{f_{n+1}(t)f_n(t)f_{n-1}(t)f_{n-2}(t)}{f_n(t)f_{n-1}(t)f_n(t)f_{n-1}(t)} = \frac{f_{n+1}(t)f_{n-2}(t)}{f_n(t)f_{n-1}(t)}$$

Following Aptekarev, Branquinho and Marcellan [1],  $V(x,t)=x^2t$  holds.

### 3.1 Symmetric orthogonal polynomials

It follows from  $\dot{\Phi}_n^t(\lambda) = A_n^t(\lambda)\Phi_n^t(\lambda)$  that we have

$$\begin{pmatrix} \dot{\varphi}_n \\ -\dot{\varphi}_{n-1} \end{pmatrix} = \begin{pmatrix} v_n & \lambda v_n \\ -\lambda & v_{n-1} - \lambda^2 \end{pmatrix} \begin{pmatrix} \varphi_n \\ -\varphi_{n-1} \end{pmatrix}$$

$$= \begin{pmatrix} v_n \varphi_n - \lambda v_n \varphi_{n-1} \\ -\lambda \varphi_n + (\lambda^2 - v_{n-1})\varphi_{n-1} \end{pmatrix}$$

Hence we have the coupled equation

$$\dot{\varphi}_n = v_n \varphi_n - \lambda v_n \varphi_{n-1} 
\dot{\varphi}_{n-1} = \lambda \varphi_n - (\lambda^2 - v_{n-1}) \varphi_{n-1}$$
(7)

It follws from this coupled equation that we get the equality

$$v_n \varphi_n - \lambda v_n \varphi_{n-1} = \lambda \varphi_{n+1} - (\lambda^2 - v_n) \varphi_n. \tag{8}$$

Thus we have three term recurrences

$$\lambda \varphi_n = \varphi_{n+1} + v_n \varphi_{n-1}. \tag{9}$$

By (7) and (9),

$$\dot{\varphi}_{n} = v_{n}\varphi_{n} - v_{n}\lambda\varphi_{n-1} 
= v_{n}\varphi_{n} - v_{n}(\varphi_{n} + v_{n-1}\varphi_{n-2}) 
= v_{n}\varphi_{n} - v_{n}\varphi_{n} - v_{n}v_{n-1}\varphi_{n-2} 
= -v_{n}v_{n-1}\varphi_{n-2}$$
(10)

Thereby we obtain

$$\dot{\varphi}_n = -v_n v_{n-1} \varphi_{n-2} \tag{11}$$

Therefore we have the following result

**THEOREM** (Vinet and Zhedanov (1998)[8]) If  $\varphi_{-1} = 0$ ,  $\varphi_0 = 1$  hold, then  $\varphi_n$  is symmetric orthogonal polynomials.

## 4 Negative Volterra equations and Cylinder functions

In this section we consider the relationship between special functions satisfying the identities

$$\lambda \psi_n(\lambda, t) = \psi_{n+1}(\lambda, t) + w_n(t)\psi_{n-1}(\lambda, t)$$

and negative Volterra equations. By using  $\psi_n(\lambda,t)$  satisfying the identities, we construct Lax pair

$$\begin{cases} \Psi_{n+1} = U_n \Psi_n \\ \dot{\Psi}_n = V_n \Psi_n, \end{cases}$$

where we denote

$$\Psi_n = \left(\begin{array}{c} \psi_n(\lambda, t) \\ -\psi_{n-1}(\lambda, t) \end{array}\right)$$

and denote

$$U_n = \left(\begin{array}{cc} \lambda & w_n(t) \\ -1 & 0 \end{array}\right)$$

$$V_n = \begin{pmatrix} \alpha_n^t(\lambda) & \beta_n^t(\lambda) \\ \gamma_n^t(\lambda) & \delta_n^t(\lambda) \end{pmatrix}$$

It follows form this pair that zero curvature representation

$$\frac{d}{dt}U_n = V_{n+1}U_n - U_nV_n$$

holds. From this representation we obtain two equations

$$\begin{cases}
0 = \lambda(\alpha_n^t(\lambda) - \alpha_{n+1}^t(\lambda)) - \gamma_{n+2}^t(\lambda)w_{n+1}(t) + w_n(t)\gamma_n^t(\lambda) \\
\dot{w}_n(t) = w_n(t)(\alpha_{n+1}^t(\lambda) - \alpha_{n-1}^t(\lambda) - (\gamma_n^t(\lambda) - \gamma_{n+1}^t(\lambda))\lambda).
\end{cases} (12)$$

If we let  $\alpha_n^t(\lambda) = 0$ ,  $\beta_n^t(\lambda) = -\frac{q_{n-1}(t)}{\lambda}$ ,  $\gamma_n^t(\lambda) = \frac{1}{\lambda q_{n-1}(t)}$ ,  $\delta_n^t(\lambda) = \frac{1}{q_{n-1}(t)}$ , then we can get the equations

$$\dot{w}_n = q_{n-1} - q_n 
w_n = q_n q_{n-1},$$
(13)

where we denote as  $q_n \equiv q_n(t)$ ,  $w_n = w_n(t)$  We call this equation "Negative Volterra equations". The reason we call "Negative" is that  $\gamma_n$  depend on  $\lambda^{-1}$ . Now follows it from  $\dot{\Psi}_n = V_n \Psi_n$  that we obtain

$$\begin{cases} \dot{\psi}_n = \frac{q_{n-1}}{\lambda} \psi_{n-1} \\ \dot{\psi}_{n-1} = -\frac{1}{\lambda q_{n-1}} \psi_n + \frac{1}{q_{n-1}} \psi_{n-1}. \end{cases} (14)$$

**Remark.**  $\{\psi_n\}$  is not symmetric orthogonal polynomials. We show this fact by proof of contradiction. Assume that  $\{\psi_n\}$  is symmetric orthogonal polynomials. Then  $\psi_{-1}(\lambda,t)=0$  and  $\psi_0(\lambda,t)=1$  hold. Then we have  $\dot{\psi}_1(\lambda,t)=\frac{q_0(t)}{\lambda}\psi_0(\lambda,t)$ . Since  $\psi_1(\lambda,t)=\lambda$  and  $\lambda$  doesn't depend on t, we have  $0=\frac{q_0(t)}{\lambda}\cdot 1$ . Namely  $q_0(t)=0$ . Thus we obtain  $w_1(t)=q_1(t)q_0(t)=q_1(t)\cdot 0=0$ . This fact  $w_1(t)=0$  conflicts with **Favard's theorem**. Therefore it was shown that  $\{\psi_n\}$  is not symmetric orthogonal polynomials.

Well we will consider what functions  $\{\psi_n\}$  is. Since we can get  $\psi_{n-1} = \frac{\lambda}{q_{n-1}} \dot{\psi}_n$  from (14), we obtain

$$\begin{split} \frac{\partial}{\partial t} \left( \frac{\lambda}{q_{n-1}} \dot{\psi}_n \right) &= -\frac{1}{\lambda q_{n-1}} \psi_n + \frac{\lambda}{q_{n-1}^2} \dot{\psi}_n \\ \frac{-\lambda \dot{q}_{n-1}}{q_{n-1}^2} \dot{\psi}_n + \frac{\lambda}{q_{n-1}} \ddot{\psi}_n &= -\frac{1}{\lambda q_{n-1}} \psi_n + \frac{\lambda}{q_{n-1}^2} \dot{\psi}_n \\ -\frac{\dot{q}_{n-1}}{q_{n-1}} \dot{\psi}_n + \ddot{\psi}_n &= -\frac{1}{\lambda^2} \psi_n + \frac{1}{q_{n-1}} \dot{\psi}_n \end{split}$$

Therefore we have the ordinary differential equations

$$\ddot{\psi}_n - \frac{1 + \dot{q}_{n-1}}{q_{n-1}}\dot{\psi}_n + \frac{1}{\lambda^2}\psi_n = 0 \tag{15}$$

We let  $q_n = \frac{t}{2n}$  which we can regard as the special solution for negative Volterra equations (13) and then we obtain ordinary diffrential equations

$$\ddot{\psi}_n - \frac{2n-1}{t}\dot{\psi}_n + \frac{1}{\lambda^2}\psi_n = 0,$$
(16)

Here we describe the solutions of this ordinary differential equations. At first we start from Bessel equations([2], [9]).

$$t^2 \ddot{\mathcal{C}}_n(t) + t \dot{\mathcal{C}}_n(t) + (t^2 - n^2) \mathcal{C}_n(t) = 0$$

Here we put  $\psi_n(\lambda,t) = t^{\beta n - \alpha} \mathscr{C}_n\left(\frac{t^{\beta}}{\lambda}\right)$ . Then we obtain

$$\dot{\psi}_{n} = (\beta n - \alpha)t^{\beta n - \alpha - 1} \mathcal{C}_{n} \left(\frac{t^{\beta}}{\lambda}\right) + t^{\beta n - \alpha} \dot{\mathcal{C}}_{n} \left(\frac{t^{\beta}}{\lambda}\right) \frac{\beta}{\lambda} t^{\beta - 1}$$

$$\dot{\psi}_{n} = (\beta n - \alpha)t^{-1} \psi_{n} + \frac{\beta}{\lambda} t^{\beta(n+1) - \alpha - 1} \dot{\mathcal{C}}_{n} \left(\frac{t^{\beta}}{\lambda}\right)$$

Thus we have

$$\dot{\mathscr{C}}_n\left(\frac{t^{\beta}}{\lambda}\right) = \frac{\lambda}{\beta} t^{-\beta(n+1)+\alpha+1} (\dot{\psi}_n - (\beta n - \alpha)t^{-1}\psi_n)$$

Moreover we differentiate this equality

$$\ddot{\mathcal{C}}_n\left(\frac{t^\beta}{\lambda}\right) = \left(\frac{\lambda}{\beta}\right)^2 t^{\alpha - 2\beta - \beta n + 1} \left\{ t\ddot{\psi}_n + (1 + 2\alpha - 2\beta n - \beta)\dot{\psi}_n + (\alpha - \beta n)(\alpha - \beta n - \beta)t^{-1}\psi_n \right\}$$

On the equation

$$t^2 \ddot{\mathcal{C}}_n(t) + t \dot{\mathcal{C}}_n(t) + (t^2 - n^2) \mathcal{C}_n(t) = 0$$

we substitute  $\frac{t^{\beta}}{\lambda}$  for t, then we obtain

$$\frac{t^{2\beta}}{\lambda^2} \ddot{\mathcal{C}_n} \left( \frac{t^\beta}{\lambda} \right) + \frac{t^\beta}{\lambda} \dot{\mathcal{C}_n} \left( \frac{t^\beta}{\lambda} \right) + \left( \frac{t^{2\beta}}{\lambda^2} - n^2 \right) \mathcal{C}_n \left( \frac{t^\beta}{\lambda} \right) = 0$$

Substituting  $\psi_n$  for  $\mathscr{C}_n$ , we obtain

$$\ddot{\psi}_n - \frac{2(\beta n - \alpha) - 1}{t}\dot{\psi}_n + \left(\frac{1}{\lambda^2}\beta^2 t^{2\beta} + \alpha(\alpha - 2\beta n)\right)t^{-2}\psi_n = 0$$

We let  $\alpha = 0$  and  $\beta = 1$ , then we get the equations

$$\ddot{\psi}_n - \frac{2n-1}{t}\dot{\psi}_n + \frac{1}{\lambda^2}\psi_n = 0$$

#### Recurrence formulae for cylinder functions

Following Watson[9], we have two recurrences for cylinder functions  $\mathscr{C}$ 

$$\mathcal{C}_{n-1}(t) + \mathcal{C}_{n+1}(t) = \frac{2n}{t} \mathcal{C}_n(t)$$

$$\mathcal{C}_{n-1}(t) - \mathcal{C}_{n+1}(t) = 2\dot{\mathcal{C}}_n(t)$$

At first we consider the recurrence  $\mathscr{C}_{n-1}(t) + \mathscr{C}_{n+1}(t) = \frac{2n}{t}\mathscr{C}_n(t)$ . We substitute  $\frac{t}{\lambda}$  for t, then we can obtain

$$\mathscr{C}_{n-1}\left(\frac{t}{\lambda}\right) + \mathscr{C}_{n+1}\left(\frac{t}{\lambda}\right) = \frac{2n}{t}\lambda\mathscr{C}_n\left(\frac{t}{\lambda}\right).$$

Multiplying both sides by  $t^{n+1}$ .

$$t^{n+1}\mathscr{C}_{n-1}\left(\frac{t}{\lambda}\right) + t^{n+1}\mathscr{C}_{n+1}\left(\frac{t}{\lambda}\right) = t^n 2n\lambda \mathscr{C}_n\left(\frac{t}{\lambda}\right).$$

hold. Here we put  $\psi_n^t(\lambda) \equiv t^n \mathscr{C}_n\left(\frac{t}{\lambda}\right)$ , we can get the recurrence

$$t^2 \psi_{n-1}^t(\lambda) + \psi_{n+1}^t(\lambda) = 2n\lambda \psi_n^t(\lambda). \tag{17}$$

Moreover put  $\psi_n^t(\lambda) \equiv (2n-2)(2n-4)(2n-6)\cdots 4\cdot 2\mathscr{P}_n^t(\lambda)$ , we have the identities

$$t^2\left(\prod_{j=1}^{n-2}2j\right)\mathscr{P}_{n-1}^t(\lambda)+\left(\prod_{j=1}^{n}2j\right)\mathscr{P}_{n+1}^t(\lambda)=2n\lambda\left(\prod_{j=1}^{n-1}2j\right)\mathscr{P}_n^t(\lambda)$$

and

$$t^2 \mathscr{P}_{n-1}^t(\lambda) + 2n(2n-2) \mathscr{P}_{n+1}^t(\lambda) = 2n(2n-2)\lambda \mathscr{P}_n^t(\lambda)$$

hold. Thus we can get

$$\lambda \mathscr{P}_n^t(\lambda) = \mathscr{P}_{n+1}^t(\lambda) + \frac{t^2}{2n(2n-2)} \mathscr{P}_{n-1}^t(\lambda),$$

excluding n=0 and n=1. Next we deform  $\mathscr{C}_{n-1}(t)-\mathscr{C}_{n+1}(t)=2\dot{\mathscr{C}}_n(t)$ . We substitute  $\frac{\lambda}{t^n}\dot{\psi}_n^t(\lambda)-\frac{\lambda n}{t^{n+1}}\psi_n^t(\lambda)$  for  $\dot{\mathscr{C}}_n\left(\frac{t}{\lambda}\right)$  on this recurrence, we have

$$2\left(\frac{\lambda}{t^n}\dot{\psi}_n^t(\lambda) - \frac{\lambda n}{t^{n+1}}\psi_n^t(\lambda)\right) = \mathscr{C}_{n-1}\left(\frac{t}{\lambda}\right) - \mathscr{C}_{n+1}\left(\frac{t}{\lambda}\right)$$

Multiplying bothside by  $t^n$ 

$$2\left(\lambda\dot{\psi}_{n}^{t}(\lambda) - \frac{\lambda n}{t}\psi_{n}^{t}(\lambda)\right) = t \cdot t^{n-1}\mathscr{C}_{n-1}\left(\frac{t}{\lambda}\right) - t^{-1}t^{n+1}\mathscr{C}_{n+1}\left(\frac{t}{\lambda}\right)$$
$$2\lambda\dot{\psi}^{t}(\lambda) - \frac{2\lambda n}{t}\psi_{n}^{t}(\lambda) = t\psi_{n}^{t}(\lambda) - t^{-1}\psi_{n+1}^{t}(\lambda) \tag{18}$$

It follows from (17) and (18) that we have

$$\begin{array}{lcl} 2\lambda\dot{\psi}_n^t(\lambda)-\frac{t^2\psi_{n-1}^t(\lambda)+\psi^t(\lambda)}{t}&=&t\psi_{n-1}^t(\lambda)-t^{-1}\psi_{n+1}^t(\lambda)\\ 2\lambda\dot{\psi}_n^t(\lambda)-t\psi_{n-1}^t(\lambda)-t^{-1}\psi_{n+1}^t(\lambda)&=&t\psi_{n-1}^t(\lambda)-t^{-1}\psi_{n+1}^t(\lambda)\\ &&2\lambda\dot{\psi}_n^t(\lambda)&=&2t\psi_n^t(\lambda)\\ &&\dot{\psi}_n^t(\lambda)&=&\frac{t}{\lambda}\psi_{n-1}^t(\lambda) \end{array}$$

Multiplying both side by  $\frac{1}{2^{n-1}(n-1)!}$ 

$$\frac{\dot{\psi}_n^t(\lambda)}{2^{n-1}(n-1)!} = \frac{t}{\lambda} \frac{\psi_{n-1}^t(\lambda)}{2^{n-1}(n-1)!}$$

Therefore we obtain

$$\dot{\mathscr{P}}_{n}^{t}(\lambda) = \frac{t}{2(n-1)\lambda} \mathscr{P}_{n-1}^{t}(\lambda)$$

Moreover it follows from the equations

$$\ddot{\psi}_n + \frac{2n-1}{t}\dot{\psi}_n + \frac{1}{\lambda^2}\psi_n = 0$$

that we have

$$\frac{\partial^2}{\partial t^2}\left(\frac{\psi_n}{2^{n-1}(n-1)!}\right) - \frac{2n-1}{t}\frac{\partial}{\partial t}\left(\frac{\psi_n}{2^{n-1}(n-1)!}\right) + \frac{1}{\lambda^2}\left(\frac{\psi_n}{2^{n-1}(n-1)!}\right) = 0.$$

Therefore we can obtain

$$\frac{\partial^2}{\partial t^2} \mathscr{P}_n^t(\lambda) - \frac{2n-1}{t} \frac{\partial}{\partial t} \mathscr{P}_n^t(\lambda) + \frac{1}{\lambda^2} \mathscr{P}_n^t(\lambda) = 0.$$

Hence we have the following result

PROPOSITION If we have two recurrences and one second order differential equations

$$\lambda \mathscr{P}_n^t(\lambda) = \mathscr{P}_{n+1}^t(\lambda) + \frac{t^2}{2n(2n-2)} \mathscr{P}_{n-1}^t(\lambda)$$
$$\dot{\mathscr{P}}_n^t(\lambda) = \frac{t}{2(n-1)\lambda} \mathscr{P}_{n-1}^t(\lambda)$$

$$\frac{\partial^2}{\partial t^2} \mathscr{P}_n^t(\lambda) - \frac{2n-1}{t} \frac{\partial}{\partial t} \mathscr{P}_n^t(\lambda) + \frac{1}{\lambda^2} \mathscr{P}_n^t(\lambda) = 0,$$

excluding n = 0 and n = 1, then we obtain the cylinder functions

$$\mathscr{P}_n^t(\lambda) = \frac{t^n}{2^{n-1}(n-1)!} \mathscr{C}_n\left(\frac{t}{\lambda}\right).$$

#### 5 Conclusion

In this paper we demonstrated special functions related to Lotka-Volterra equations and negative Volterra equations introduced from zero curvature representations. We showed that there is the relationships between Lotka-Volterra equations and symmetric orthogonal polynomials, and the relationships between negative Volterra equations with special solutions and cylinder functions. The relationships between negative Volterra equations and cylinder functions give us establish a new property of Bessel functions.

On future issues, our view is demonstrating a relationships between discrete negative Volterra equations

$$u_n^{(m+1)} - u_n^{(m)} = \delta \left( q_{n-1}^{(m)} - q_n^{(m+1)} \right) \qquad u_n^{(m)} = q_n^{(m)} q_{n-1}^{(m)}$$

introduced by using Hirota's direct method and special functions, where we denote n, m as a integer number. It is well-known that we can obtain the discrete Lotka- Volterra equations

$$D_n^{(m+1)} \left( \lambda^{(m+1)} - D_{n-1}^{(m+1)} \right) = D_n^{(m)} \left( \lambda^{(m)} - D_{n+1}^{(m)} \right)$$

from the spectral transformation and three term recurrences for symmetric orthogonal polynomials[6]. But we do not know special functions connected to discrete negative Volterra equations. Thus we will discover the relationships between discrete negative Volterra equations and special functions.

## References

- [1] A.I.Aptekarev, A.Branquinho, F.Marcellan, Toda-type differential equations for the recurrence coefficients of orthogonal polynomials and Freud transformation, J.Comp and App.Math 78(1997)
- [2] R.Beals and R.Wong, Special functions and orthogonal polynomials, Cambridge University Press (2016)
- [3] L.Faddeev and L.Takhtadjan, Hamiltonian methods in the theory of solitons, Springer, Berlin (1987)
- [4] M E.H. Ismail, Classical and Quantum Orthogonal Polynomials in One Variable, Cambridge University Press(2005)
- [5] A.N. Kolmogorov and S.V. Fomin, *Introductory real analysis revised English Edition* translated and edited by R.A. Silverman, Dover publications, inc. New York (1970)
- [6] Pritula G.M. and Vekslerchik V.E., Negative Volterra flows, J.Phys.A: Math. Gen. 36(2003)
- [7] Spiridonov V and Zhedanov A, Discrete time Volterra chain and classical orthogonal polynomials, J. Phys. A: Math.Gen.**30**(1997)
- [8] Vinet L and Zhedanov A, An integrable systems connected with the Uravanov-Chihara problem for orthogonal polynomials, J.Phys.A: Math.Gen. **31**(1998)
- [9] G.N.Watson, A treatise on the theory of Bessel functions, Cambridge Mathematical Library edition (1995)